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QUESTION 1

A multinational construction company, headquartered in London, has operations in five countries. It has its major
operations in the US and UK and small offices in Saudi Arabia, UAE, and India. The company employs 3,000 people in
the UK and US and 500 people in the remaining locations. The entire workforce in India falls under the Contingent
Worker category. 

How many Legislative Data Groups (LDGs), divisions, legal employers, and Payroll Statutory Units (PSUs) need to be
configured for this company? 

A. five LDGs (one for each country), four divisions (UK, US, India, and one for Saudi Arabia and UAE combined), five
legal employers, and four PSUs (all except India) 

B. four LDGs (UK, US, India, and one for Saudi Arabia and UAE combined), five divisions (one for each country), four
legal employers (all except India), and five PSUs 

C. five LDGs, five divisions, five legal employers, and five PSUs 

D. five LDGs (one for each country), four divisions (UK, US, India, and one for Saudi Arabia and UAE combined), two
legal employers, and PSUs (US and UK only, because the workforce is very small in the other countries) 

Correct Answer: A 

 

QUESTION 2

Which employment model options are available for newly provisioned HCM Cloud environments? 

A. 2-tier single assignment, 2-tier multiple assignment, 2-tier multiple contracts multiple assignment 

B. 2-tier single assignment, 2-tier single contract single assignment, 2-tier multiple assignment, 2-tier multiple contracts
single assignment 

C. 2-tier multiple assignment, 2-tier single assignment 

D. 2-tier single assignment, 2-tier single contract single assignment, 2-tier multiple contracts multiple assignment, 2-tier
multiple assignment 

Correct Answer: C 

 

QUESTION 3

Select three correct Workforce Structure definitions. (Choose three.) 

A. Country 

B. Location 

C. Department 

D. Division 
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E. Geography 

F. Facility 

Correct Answer: BCD 

 

QUESTION 4

Which three options define Enterprise Structures Configurator (ESC)? (Choose three.) 

A. The tool creates a structure of divisions, legal entities, business units and reference data sets. 

B. It is an interview-based tool that guides through the process of setting up a basic enterprise structure. 

C. The tool creates a structure of divisions, legal entities, business units and departments. 

D. The tool creates a structure of divisions that may then be manipulated by the administrator. 

E. After defining the enterprise structure and the job/position structures, the administrator can review them, make any
necessary changes and then load/rollback the final configuration. 

Correct Answer: ABE 

 

QUESTION 5

There has been a re-organization requiring all the employees of Department A to be moved to Department 

B. Which option will enable this activity to be addressed in a single request? 

A. Run the Mass Update process. 

B. Run the Send Pending LDAP Requests process. 

C. Run the Synchronize Person Records process. 

D. Run the Refresh Manager Hierarchy process. 

Correct Answer: A 
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